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Candidates are required to give their answers in their
own words as far as practicable.

1.  Answer any ten questions: 2x10=20
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a)  What are the components of M, measure of
money supply?
M, S Q@I9NCR SoAmimesfer I e

b)  What is autonomous investment?
TGS [ 2

c) Distinguish between personal income and
disposable income.
G S G- ACN S N AL 54|

d) Define MPS. If MPC = 2/3, find the value of

MPS. 1+1=2
MPS-43 <! WS | T MPC = 2/3 33 ©(d MPS -a3
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g)

h)

i)

k)

D
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What does Net Export mean?
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What is multiplier? When MPS = 0.5, find the
value of investment multiplier? 1+1=2

@9 F1 72 MPS = 0.5 2t [ifaeiel weirsa s e
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What is transfer earning? Give example. 1+1=2
TR SR F 2 CUIZFeI IS |

What is meant by liquidity preference?
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What are the components of aggregate demand?
Afas vifen Soimiaesf F Fie

What is Circular Flow of Income?
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What are the principal determinants of
investment?
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What do you understand by speculative demand
for money?
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Define MPC and APC. 1+1=2
MPC @ APC-Eq KR 7G|

What is real GDP?
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Define National Income.
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2. Answer any four questions: 5x4=20

@I orRle 4 Ted mie ¢

a)

b)

d)

230/Eco.

If autonomous investment of a country
increases by Rs. 2,000 crores and the MPC of
that country is 0.8 then to what extent the
national income of the country will increase?
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What are the ‘withdrawals’ and ‘injections’ to
the flow of income of an Open Economy?
G & SIS S 2R T G- TS -
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What is money? Discuss different functions of
money. 1+4=5
w1 Fl 2 el fafes SRi<El SicErb 5 |
Distinguish between National Income at market
price and National Income at factor cost.
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Describe ‘liquidity trap’ under Keynesian system
(with diagram).
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What is consumption function? Discuss the
characteristics of Keynesian short-run

consumption function. 2+3=5
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3.  Answer any two questions:
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10x2=20
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a)

b)

d)

230/Eco.

i)  What is monetary policy? Write a short

note on ‘open market operation’.
2+3=5
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i1)  What is cheque? Write a brief note on
different types of cheque. 2+3=5
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Describe critically Fisher’s quantity theory of

money.
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What are the different methods of measuring

national income? Discuss the difficulties in

measuring national income. 3+7=10
s ol oo [ Aafouk F e wrew
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Explain how national income is determined in a
simple Keynesian model.
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